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От5оD д4==Oх 8 6O7Dу7к4 отGето6 

Для роли «Ведомство» 

 

1. �4Eод8< 6 � М, =468<4е< =4 68д6ет 9 точек Eле64 =4 п4=ел8 QкD4=4 
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�еDеEод8< =4 «�6то<4т878Dо64==ое D45очее <еEто: 

 

ОткDоNтEO 6Eе D47делO DееEтD4 E 8<уMеEт6о< 74кDепле==OE 74 �D46оо5л4д4телO<8 8 
под6едо<Eт6е==OE �едо<Eт6у. 

ДлO от5оD4 8<уMеEт64 к4ко7о-л85о пD46оо5л4д4телO <о6=о 6Oпол=8тP чеDе7 D8лPтD 
от5оD4 8 Dу=кF8о=4л отчет=оEт8 « ееEтD 8<уMеEт64». 

2. От5оD 8<уMеEт64 чеDе7 D8лPтDо64=8е 

ОткDоетEO DоD<4 D8лPтDо64=8O: 
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Ук474тP �D46оо5л4д4телO 8 =468<4е< к=опку «�D8<е=8тP от5оD»: 

�удут пDедло6е=O толPко под6едо<Eт6е==Oе оD74=874F88: 
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�O9дет Eп8Eок 8<уMеEт64 74кDепле==о7о 74 �D4оо5л4д4телO<8 : 

 

От<е=4 D8лPтD4 чеDе7 к=опку E кDеEт8ко<: 
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3. От5оD 8<уMеEт64 чеDе7 DоD<у отчет4 

� � М =468<4е< =4 к=опку « ееEтD 8<уMеEт64»: 

 

ОткDоетEO поле длO D45отO E отчет4<8: 

 

Ук47O64е< полO по котоDO< 5удет пDо876од8тPEO от5оD: 
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�O7Dу78тEO DоD<4 6 E ото5D4==O<8 д4==O<8: 

 

�D8 =464т88 =4 =48<е=о64=8е о5Nект4 откDоетEO к4Dт4 учет4 6O5D4==о7о о5Nект4 
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4. !оED4=е=8е получе==о7о отчет4 6 =у6=о< DоD<4те 

 

�O5D4тP т8п EоED4=Oе<о7о D49л4 8 ук474тP =4764=8е D49л4 

 

 

�о у<олч4=8N 6O7Dу64е<O9 отчет EоED4=OетEO 6 п4пке «�47Dу7к8», Eо7л4E=о Eт4=д4Dт=O< 
=4EтDо9к4< 8EполP7уе<о7о 5D4у7еD4.  
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О5Oч=о Qто п4пк4: 

 

 

5. �4кDOт8е откDOтOE око= 

 

 

6. От5оD о5Nекто6 

�о8Eк <о6=о 6Oпол=OтP чеDе7 Ф8лPтD 8 чеDе7 « ееEтD 8<уMеEт64» 
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